ha

22.5 m 15
95 110
95 100 5.0 md
100 105 7.5 m
105 110 10.0 nd
102m  104m 1/2

5 m

(102m+104m)/2=103.0
100m 103m (105m-103m)/(105m-100m)><7.5 m®=4.5

22.5 m-(5 m+4.5 n®)H=13 nd

5mm

10cm

5mm

10cm
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2 2 3 3
-5.000 762
-4.000 1,007 885 1 885 885
-3.000 1,285 1,146 1 1,146 2,031
-3.000 4,440 0
-2.000 5,187 4,814 1 4,814 6,845
-1.000 6,001 5,594 1 5,594| 12,439
6,873 6,437 1 6,437 18,876
0.000 11,752 0
1.000 12,826| 12,289 1} 12,289 31,165
2.000 13,923| 13,375 1| 13,375 44,540
3.000 15,702| 14,813 1| 14,813 59,353
4.000 18,668| 17,185 1| 17,185 76,538
5.000 19,912] 15,832 1f 15,832) 92,370




2 3

NO.0 0
NO.0+10.0 10 10 450 225 2,250
NO.1 10 20 698 574 5,740
NO.1+2.0 2 22 730 714 1,428
NO.2 18 40 717 724| 13,032
NO.2+11.8 11.8 51.8 700 709 8,366
NO.2+15.6 3.8 55.6 681 691 2,626
NO.3 4.4 60 659 670 2,948
NO.3+15.0 15 75 650 655 9,825
NO.4 5 80 606 628 3,140
NO.4+2.7 2.7 82.7 581 594 1,604
NO.5 17.3 100 516 549 9,498
NO.6 20 120 469 493 9,860
NO.6+9.5 9.5 129.5 450 460 4,370
NO.7 10.5 140 431 441 4,631
NO.7+4.0 4 144 417 424 1,696
NO.7+9.9 5.9 149.9 323 370 2,183
NO.8 10.1 160 290 307 3,101
NO.8+18.0 18 178 283 287 5,166
NO.9 2 180 281 282 564
NO.9+12.0 12 192 274 278 3,336
NO.9+16.0 4 196 192 233 932
NO.10 4 200 0 96 384

200 96,679

0. aoo
FH=0, 000

L1 LI

FH
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FH=5. 000
FH=5 000
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